
1.2-65

Body Ported Type SY9000

Manifold Options

� For types 20, 23
Blanking plate assembly

� Bolt, Gasket part numbers

� For types 20P, 23P
Blanking plate assembly

� Individual EXH spacer assembly

� Plug (white)

� Individual SUP spacer assemblySeries Assembly part no.
SY3000 SY3000-26-9A-Q
SY5000 SY5000-26-18A-Q
SY7000 SY7000-26-20A-Q
SY9000 SY9000-26-1A-Q

Series Assembly part no. Port size

M5
1/8
1/4

SY3000 SY3000-39-20A
SY5000 SY5000-39-1�A-Q
SY7000 SY7000-39-1�A-Q

1/4SY9000 SY9000-39-1�A-Q

Series Assembly part no. Port size

M5
1/8
1/4

SY3000 SY3000-38-20A
SY5000 SY5000-38-1�A-Q
SY7000 SY7000-38-1�A-Q

1/4SY9000 SY9000-38-1�A-Q

Note) In case of types 20P and 23P, to 
protect from drainage, arrange the 
piping on the EA port (wiring unit side) 
so that the wiring unit will not be 
exposed to the direct exhaust from the 
valve. 

Note 1) The SUP port can be on the lead wire 
side or end plate side for 
SY3000/5000/7000. (The SUP port 
direction is as shown above when 
shipped already assembled.)

Note 2) For SY9000, the SUP port is only 
available on the end plate side.

Series Assembly part no.
SY3000-26-10A-Q
SY5000-26-19A-Q
SY7000-26-21A-Q

SY3000
SY5000
SY7000

SY9000-26-3A-QSY9000

Caution
Mounting screw tightening torque

M2: 0.15N⋅m
M3: 0.6N⋅m
M4: 1.4N⋅m

Insert into unused cylinder ports and SUP/EXH ports.
The minimum order quantity is 10 pieces. Order in multiples of 10.

Applicable fitting
size  ød

4

Model A L D

KQ2P-04 16 32 6
6 KQ2P-06 18 35 8
8 KQ2P-08 20.5 39 10

10 KQ2P-10 22 43 12
12 KQ2P-12 24 45.5 14

Dimensions

Series
Round head 

combination screw

SY3000 SY3000-23-4
(M2 x 21)
M3 x 26

(Flat nickel plated)
M4 x 31

(Flat nickel plated)

SY5000

SY7000

Gasket

SY3000-11-24

SY5000-11-10

SY7000-11-9
SY9000-18-2

(M3 x 42)SY9000 SY9000-11-1

Rc (PT)
NPT

G (PF)
NPTF

N

F

-

T

Thread

Type 20PType 20
Type 23 Type 23P

SY

SYJ

SX

VK

VZ

VF

VFR

VP7

VQC

SQ

VQ

VQ4

VQ5

VQZ

VQD

VFS

VS

VS7

VQ7

SY

SV


